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Q141.  metal is extracted only by electrical decomposition.
YT Shalel Taegd 3TEes GarT foehrel Sl 1

A. Al

B. Cu

C. Fe

D. Zn
Sol-
Aluminium is extracted by electrolytic reduction method.
In electro-refining method, impure metal is taken as anode and pure metal is made of cathode.
The electrodes are placed in acidified aqueous solution of metal salt or molten metal salt.
On electrolysis, the metal in anode dissolves into the solution and gets deposited over the cathode.
The residue left below the anode in the electro-refining of metal is called anode mud.
Aluminum metal obtained by the electrolysis of fuse alumina is about 99.5% pure.
It can be further refined by Hooper's electrolytic process.
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Plus some salt or acid

Q142. An element has an electronic configuration (2,8,8,1), then the element will be:
T dcd T Seidclioleh [dedTd (2,8,8,1) 8, al 98 dd glem

A. non-metal /3787

B. metal /4T

C. metalloid /3991

D

noble gas /Atdel T

Sol-

e  The element that has an electronic configuration (2,8,8,1), hence there are two electrons in K shell, 8
electrons in L shell, 8 electrons in M shell and 1 electron in N shell.

e  Thus, the total number of electrons is 19.

e The given element is potassium.

e  The element potassium can lose one electron and can become a positive ion, so it is a metal. They are better
conductors of electricity than that of nonmetals and metalloids.
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o 3T dca &1 solgeliale [Aea T (2,8,8,1) &, STTAIT K 120 7 & Solareled, L IRl & 8 Solarelal, M el 3 8
gorelT 3N AT F | o g &

o 3 YER, Solarclal I Hel HEAT 19 B

o T 9T Icg AR RTH B

o ca MRITH Teh Sl G Hehell § A Teh HhRIcH T ST Hecll &, SHIAT Tg Th LTI o1 &
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Q143. The dimension of acceleration is

TaOT T 3RATH §
L' M T2
L' M! T2
L! M2 T2
L! M° T2

SCowpx

Sol-

Acceleration: The rate of change in velocity is called acceleration.
It is denoted by a.

Its unit is meter/second?.

Acceleration = velocity/time.

o AXOT: 39T H IRATA HY 2T I caUT Fgd B |
o U UCARI AT IRATE|

o SHHI FHIS HIcTAhs’ &

o CORUT=JI/TAT|

* Acceleration can be written as

velocity

Acceleration = SimE

As we know, the dimension of velocity (v) = [LT™']
The dimension of time (t) = [T]

+ Dimensional formula of acceleration is

Acceleration = %‘ = MOLIT—2

Q144. Energy is stored in liver and muscles in the form of
e AR AT 7 Foft e & 7 Farfga greh &7
A. Carbohydrate /FTE{gIS3C

B. Fat/@dr
C. Protein/SéT

D. Glycogen /3clgahlotel
Sol-

e  Glucose is transported by the blood to the various tissues and organs where it is used as energy.

e If the body does not need glucose for energy, it stores glucose in the liver and the skeletal muscles in a
form called, glycogen.

e  Glycogen stores are used as an energy source.

e When body needs glucose glycogen breaks into glucose and comes to blood and when blood has excess
glucose glycogen is synthesised in the liver and muscle.
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Q145. Which one of the following could be the melting point of Titanium?

faf@a 7 @ P aseaus =1 7101 8 Thdr g7
a) 25°C

b) 37°C

¢) 500°C

d) 1600°C

SOl-

These are the melting temperatures of common metal types:
= Aluminum: 660°C {1220°F)

= Brass: 930°C (1710°F)

= Aluminum Bronze*: 1027-1038°C (1881-1900°F)

»  Chromium: 1860°C {3380°F)

= Copper: 1084°C (1983°F)

» Gold: 1063°C (1945°F)

= Inconel*: 1390-1425°C {2540-2600°F)

» Castlron: 1204°C (2200°F)

» Lead: 328°C (622°F)
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Cast Iron: 1204°C (2200°F)

Lead: 328°C (622°F)

Molybdenum: 2620°C (4748°F)

Nickel: 1453°C (2647°F)

Platinum: 1770°C (3218°F)

Silver: 961°C (1762°F)

Carbon Steel*: 1425-1540°C {2597-2800°F)
Stainless Steel*: 1375 — 1530°C {2500-2785°F)
Titanium: 1670°C (3038°F)

Tungsten: 3400°C (6152°F)

Zinc: 420°C (787°F)

Q146. Which one of the following metals does NOT react with cold water?
AT & & i3 a1 33 STor & HTATHIT ST el 87

a) Calcium (Ca) /hToRTIH (Ca)

b) Potassium (K) /9refITeT (K)

c) Magnesium (Mg) AR Mg)

d) Sodium (Na) /AIf3TT (Na)

Sol-

e  Magnesium does not react with cold water.

e  Magnesium reacts with hot water to form magnesium hydroxide and hydrogen.
e  Magnesium starts floating due to the bubbles of hydrogen gas sticking to its surface.

o HIARTH 33 STeT T HATHAT AL FAT R
o HIANRITA grssiararss 3R gEEIe T & fT Heh R a7et urelt & grer wfafshar aar gl
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Q147. Rate of evaporation increases with
rdTeRoT T e 9 STell &
a) an increase of surface arca /g &3 H agﬁr
b) an increase in humidity /3T ?:‘I'E{\TET
¢) adecrease in wind speed /gaT &Y ITf H AT
d) a decrease of temperature /JTIHTeT  FHaT

)
S

EXPOSED SURFACE AREA

e The rate of evaporation is directly proportional to the surface area i.e the bigger the surface area is
more molecules will escape into the atmosphere
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e Evaporation increases with the increase in temperature as more molecules get kinetic energy to convert
into vapor. When the water is heated, the water molecules tend to move rapidly. This makes the
molecules escape faster.

o TTSHIEHT T X ALY Helg &1 o FHTUTAT Glcil & AT TSIcTelT ST Helg &1 G191 Sclat 3HTeeh 30T
AIGHS H Tolehel ST
o TIYATH H Jefe & AT ATSHHIOT A6l & Fi e 3Tk IUL3HT &Y areq H Feelat & forw arfist Fait
TRCTe & | STar OTaft ht a1et b STt &, A Wett o 3707 Aol & 91 et 81 36 3107 oot & ¥t
ik
Q148. Magnification is
HEAAE
a) actual size of specimen / observed size /HTI‘\?-T T aTEATdh 3THR / AfaTT ITHR
b) observed size of specimen / actual size /H?ZI‘\F-T I UfeTd 3R / arEdideh TR
¢) actual size of specimen - observed size /Hﬂ‘\?-\f FI ATEATd TFR - 8T HTHR
d) actual size of specimen X observed size /sTHaIT pT arEdfdes HTRR X 9f8Td 3R’

Q149. Which one of the following cell organelles mainly functions as storehouse of digestive enzymes?
TAFATTET 7 & leT-A1 HIRAAIET HET §G F Grereh USTTSHT & HUSR & & & 1 il 57

a) Desmosome /SHAGH

b) Ribosome RTSEEH

¢) Lysosome /GTSGIGH

d) Vacuoles /Rfeaee
SOlI-
e Lysosomes mainly function as a storehouse of digestive enzymes. The lysosome contains a powerful
hydrolytic enzyme that is able to digest every organic substance.

o CISHNHHA HET &9 U UTesh TISHAT oh HUSR & & H 1A ald § | oITSAHTH 7 Ueh rfFaeimely
gTSSIeSTed USTSH BIdT § St 8 I Taish UeT Y Ity H TeTH eI &

150. Presence of ozone in the atmosphere is important because it absorbs
A 3 3NeT 1 SUREURY Fgcaqeh & i 75 R e
A. ultraviolet-A and ultraviolet-B radiations /ORTS9TAT-T 3{X RIS ITHT-aT fafehor
B. ultraviolet-B radiations only /shdel GRTdlaTAI-alY fafeRoT
C. infrared-B radiations only /ddel aReFd-ar fafeRioT
D. outgoing ultraviolet-B radiations and incoming ultraviolet-A radiations /STTdeh URTSITei1-aT TATeRTOT
3R 311 arelt Rrdered-T fafaReor
SOI-

e  The sun emits three different types of UV radiation: UVA, UVB, and UVC. All types of UV radiation
have the potential to damage your skin, but each type affects your skin differently.

o TS il 3TOT9T-37el4T JehRR & JaT FATRIOT Scafoic il 8: JAT, Je 3R JdIel | @it 9o &
a@%ﬁwﬁmﬁmﬁwq@ﬁﬁmﬁ%ﬁ%ﬁwwﬁmaﬁ
37oT9T g & TeTfad T g

e Ozone absorbs more than 99 percent of UV-C rays and it is the most dangerous portion of the
spectrum.

e Ozone absorbs about 90 percent of the UV-B rays and the remaining 10 percent that make it through
are a big reason for causing sunburns and skin cancer.
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o 3G 99 wfcrerd ¥ 37T FAT-Hr Aol &l 3raeia #dr § 3R a7 FagH 1 98 @dts
I
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HeAdeT 3R caar he HT Ueh S8 HRUT G |

Q151. Free swimming macroscopic animals in an aquatic environment are referred to as

ST ATCATEROT H Hebel oIt aTel HshIEhITUeh SITeTal T &gl STell &

A. Plankton /Celdeh
B. Periphyton /IRIIETsT
C. Benthos /4418
D. Nekton /aaesT
SOI-
Neuston - P 3 &>
Plankton < W \} C- W ———

Nekton (m

PO ces

e  Nekton or necton refers to the actively swimming aquatic organisms in a body of water.

The term was proposed by German biologist Ernst Haeckel to differentiate between the active swimmers in
a body of water, and the passive organisms that were carried along by the current, the plankton.

As a guideline, nektonic organisms have a high Reynolds number (greater than 1000) and planktonic
organisms a low one (less than 10).

o oiace Ut o R H TfhT T I e aTel STl SHial l G HLAT ¢

o STH SIS 3HAEC ghel GaRT TTedt 3 TR H Hiohd SRTehl & AT 3 XA & oIT 2reg 1 g&ara
e arar 2, 3R TSR Shat sl adH T, Toldeh & AT of ST 73T 24T

Teh fEanfader & & &, Aecifee shal & 3oa Ylead TEAT (1000 T 38®) AR celdhellie Sial & S
(10 & ) @I &

Q152. Electron emission from a metallic surface by application of light is known as
SRR & 3TN SaRT ET] & HAG W FAFLIA ScHoNeT ol oh & F ST STTell &
A. Thermionic emission /ZSHATATIRT Scdotel
B. Photoelectric emission /ﬁﬂ%ﬁ%w
C. High field emission /3T &1 3cdolel
D

. Autoelectronic emission /aﬁasﬁa?;‘fﬁa? 3chotd
Sol-

The bundle of light ray is called as photon.
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When photons fall on a metal surface then free electrons get ejected from the metal surface. This
phenomenon is called as photoelectric emission

FeRTeT fohYUT & S5oT &l e Fed &
SIS WICTe 1] T Hlg I A § A 1] T HAg & HeF Solerciel gL felehol ST § | S6 €T &l
BICISolFeeh 3cdolel el STl §

Q153. Concave mirror is used in headlights of vehicles, because it

37add UUT &l YAET ATEAT ST gSASe H fohT SATdT &, Fifh I8

A.
B.
C.
D.

Sol-

focuses light from the bulb onto nearby vehicles /Sea & YehTT ST ITH-UTH & dTgall X higd Xl &
sends parallel rays /HHTATAR TohT0T HSTcT g

fits well into the shape of the headlight /8SelTSC o 3TRR H TS g e doaTg

is cheaper than other mirrors /3= ot T Jefell qHOearg

When the bulb of headlight is placed at focus of concave mirror, it allows the light to spread out to
infinity (longer distances) and at infinity they are approximately parallel. Hence, concave mitrors are
used in the headlights of vehicles.

ST §SelIST & Sod ol 3acel GUUT & thiehd T I SITT &, il TG ThTeT hl 3eicl (efell &) ek
el & § 3R 377 IR I SETS79T THATATR 8idd ¢ | 37d: 3T cTel GUUIT ol TAT9T ATgail ol g3elsed
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Q154. If some object is weighed when submerged in water, what will happen to its weight compared to its
weight in air ?

I Tl o] Y U1l 3 5o L6t OR el STl &, oY §aT 31 3Heh 37 Y Jololl 7 38 HIX T 7 §1aM?

A.
B.
C.
D.

Sol-

Increase /a?ﬁafr

Decrease /&HT

Remain exactly the same /ﬁ?f!;_or aar é‘r

Increase or decrease cannot be predicted /Ej_aﬁ T AT HT e ATl AET ST ST bl

The weight of an object is defined by its mass multiplied by the acceleration due to gravity.

W =mg

An object weighs the same in air as well as in water. But, in water an additional buoyant force acts on
the ball in a direction opposite to the direction in which the weight of the ball acts. If the weight of the
ball acts downwards, buoyant force acts upwards. These two forces work together to make it seem as
the object weighs less in water.

In air, due to very low density of air, the buoyant force acting on the object is almost negligible.
Archimedes' principal states that the magnitude of the upward force an object immersed in a fluid
experiences is equal to the weight of the fluid displaced due to that object.

m = density X volume

w = density x volume % acceleration due to gravity
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o U aE] T HR 3HF G Y TEAT x0T I I[OT F¥a il forar Srar g |

e W=mg

o Ueh & T doiel §aT oh AIY-AIY Ulelt & 1 HATH gl & | SAfehet, It 7 Teh AR Sccelrash aef
g 9X 37 fem & Audid 1 T & ST 3ie o1 TR 1 FXar &1 e 3 1 1R A iy 3tk
FRI FLAT &, AT 3cCATaeT o FUX T 3R FRT FAT & | A ST Iof [AeTa FIH ad & o g or
TefteT B & o oReq] T aotet el 3 B

o T H ARG H Gefed Tg A Bled h HROT T R 9T ITell ScTellae] ol TITHAT ST9T0 BT &

o IIHIASTST o ATATer 7 gl & b Rl AT Tarel 3 Zol g5 a8 o SR 1 3 &7l b1 TRATOT
3 TE] % HROT TS g & R & s gl g |

e m=HYdcd x AIdA

o w=Helcd x YT x IocdlehyUT & HRUT 0T

Q155. Which one among the following waves carries the maximum energy per photon?
farafaf@a 7 @ sl @ aier ufa Sl 3ftsmasa Fai aged wdr g?

X-rays /TFA-X

Radio waves /T&FH-Y

Light waves /9ehTST 3T

Microwaves /HATSshIdd

S 0w >

Sol-

High frequency Gamma rays photons have maximum energy compared to other photons in the
electromagnetic spectrum. It is followed by X-rays, UV rays, Light waves, Infrared, Microwaves and
Radio waves.

o 39 G aTe! AT TR0 & BITel # T Traeha auiehd # 3 Brelal i Jofell H
HTRRTH Fail Bl & | $Hb S1G TFH-Y, Fal 0T, Fehrel T, So3hRS, ATSshidd i ISAT 3T
AT
Q156. Zinc is used to protect iron from corrosion because zinc is
g T ST TaTe & forw i a1 3uier fohar arar & wife e g
A. more electropositive than iron /eilg T ool # 31fes ﬁaga ellcHb
B. cheaper than iron /elig & TET
C. abluish white metal /Teh siToll The, ‘EIIT_ST

D. a good conductor of heat and electricity /ATHT 3R fasTell &1 Ueh 31aT HagHh
Sol-
e  Zinc is able to protect iron from corrosion because it is more electropositive than iron.
e The process of coating iron with zinc is called as galvanisation.
e The Zinc forms a think layer of Zinc carbonate on the iron and since the standard reduction potential of
Zinc is less than iron, the iron does not undergo corrosion and the Zinc undergoes oxidation first.

o T3 O Y RO & TR ¥ WA § i A i T e 3 i ey umeE 3]

o g W S HI R T T UfhaT F1 Seasisaierd Fed &

o TS oig W fSieh rsifeie Y veh | e ST & 3R e TSieh &l Aleteh oty &7AT ol & e
B &, 3afAT olg &7 &ROT 81 BT & 3R ugel foieh o1 3HTareiienyor 8T &1

Q157. Which one of the following is a chemical change?
Al f@d # @ Sia-a1 v Tarfas aRade &7
A. Cutting of hair /dTel ShIceT
B. Graying of hair naturally /eIl &T 9@%@7 9§ e glell
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C. Swelling of resin in water /ATeiT # XT&eT T Hefell

D. Cutting of fruit /®ef shIcaT

Sol-

e A chemical change results from a chemical reaction, while a physical change is when matter changes
forms but not chemical identity. The five conditions of chemical change: colour change, formation of a
precipitate, formation of a gas, odour change, temperature change.

e A Physical change affects only physical properties, i.e. shape, size, etc.

e They both involve changes in the state of matter. They both have energy changes.

o TEHTERE IREdT UE TaRRE AT O gar &, e ve siifde aiade ae giar & o
TET T SE ol § olfohe] AT Teleh TgdTeT aTaT | I IR T ara Rafaar: F1 aikads,
3TTETT T FAAT, I T FTAT, 38T F IRATA, ATIAT F IRIAA |

o U i aRade et Hifcres 0T @ gHIaT T B, AT IR, IR, 3T

o T uerd Fr FRUfa F gRade Fr enfAe &1 37 et 7 Foir aRada xar g

Q158. Which one of the following waves does not belong to the category of the other three?

AR 7 & let € T 317 et 1 Aol & Heiftrd w761 &2

A. X-rays /TFH g

B. Microwaves /ATSshidd
C. Radio waves 33T a&@t
D. Sound waves /&afeT a3ar

Sol —
e Sound wave is a mechanical wave while rest others are electromagnetic wave.

o AT AT Ueh AT T § STafeh AV 31 T graehrg i g

Q159. Which one of the following is a cause of acid rains ?

fFefaf@d & § i 31Fel It 37 HROTE?
A. Ozone /37SiT
B. Ammonia /3@IfAT
C. Sulphur dioxide /AT STS3HTFATSS
D. Carbon monoxide /&TeeT mﬁ&ﬁﬁ@g
Sol-

When the pH of rain water is less than 5.6, it is called acid rain.

Oxides of sulphur and nitrogen are mainly responsible for acid rain.

These combine with the water vapour and form harmful sulphuric acid and nitric acid, which then fall
to the ground as acid rain.

o ST qNT STeT T pH HATA 5.6 T A &1 oY 3 3Feild I dgdl o |

o 3 I & AT HTT §9 & Gew 3R Ao & 3ifFarss TeR g €1

o YT AT & HIY AT gliotepReh Horg e TS 3R ATgiee Tfls aard §, St a9 ey aut
& ¥ H T R TRAE

Q19. The human body does not produce :
HATAT R ScdTCT oAeT T o

DNA /3iueu

Vitamins /fderfdet

Hormones /gTHfeT

Enzymes /T

S 0w »

Sol-



GENERAL SCIENCE IMP QUESTION / SAMPLE PAPER - 26

e The organic compounds other than carbohydrates, proteins which maintain normal growth and nutrition
in the human body (but not produced in human body) are called vitamins.

o  FIElEIS3C, WE & IHelldl 31 Hlioleh lfTeh ST HeTd QR F AHAY e & 3R G907 AT
@A & (e AeTa IR 7 3carfea 78 81 e sgea &1



